A NS EH
M N3 ML (&
ol HEE NSBH Jle

A

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
K& Ml ot 3,873,639 1,374,454 2,499, 185
= 53,000
= 1,170,000
Al 408,000
= 2,242,639
ANABRMELSH(AY - SAING/MHEE - DL 2,427,279 381,918 2,045,361
= 1,170,000
Al 390,000
i 867,279
oHE A XYM Jlgtxd 2,392,779 347,918 2,044,861
= 1,170,000
Al 390,000
= 832,779
NSEH &5t 52,251 47,766 4,485
101 el 21,905 21,374 531
04 JItHIZ2E2ENEE S 21,905 21,374 531
O2Jt & HelAHIARS A 8,095
olJl=s 32,8803 1H *123 4,045
OFg=H 32,880 x1H+502! 1,940
o=l 5,000 «1H 1232 615
OusH| 5,000 *1H 123 615
OJs=d 480
o BH A 40,0003 x1H «6& 240
. & HIE 20,0003 x2H 62 240
O EF It 400,000& 1H =13 400
O2NILIHEA 2T AL 32,8803 x6ZH «70 13,810
201 eI 8,860 6,360 2,500
01 AtE22/Hl 8,860 6,360 2,500
oget=3| 7,880
O&= AT It &t&s 2ALEX
2,500,000& 2,500
O&= =A% It =2 M
100, 000& *3H 300
OF= 2AE &It E8 2 MHE
2002 5,000 1,000
Ositetd 2= oM - M 4,080
. AEHX 603 *2,0000H *43] 480
. =0 100, 000& *12JH *32] 3,600
o2g=¢ 980
OSItHH 2 4R J3 F4d 980
. A3 70,000& x10H =13 700
. AR 70,0003 «4H +12 280
202 O4dl 2,200 2,200 0




A XS EH
FE: NGB MELH (LY - SAIG/AHTE - DES

ool HE A XFZM Jlgtxd (e E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 =LA bl 2,200 2,200 0
O2 2| o bl 2,200,000 2,200
203 ERF&d| 11,100 11,000 100
03 AEFIHRFAH| 11,100 11,000 100
OXNIZH&Ss AIMFZ 11,100,000& 11,100
301 LetEA = 8,186 6,832 1,354
10 SALAHIEAZ 3,386 2,032 1,354
ONMIZRAE Ye&tal &It 338,600& «10H 3,386
12 JIEtE2 43 4,800 4,800 0
OZHAZDIIHdEHdAL MYDIISEXA
1,000 2000 *60H 2~ *4 3| 4,800
SEHO A2 89,596 62,952 26,644
201 LBty 44,096 41,952 2,144
01 AFR22lH| 11,600 10,600 1,000
oget=8gH| 600
OMHAE OIZEE CtUE HZ
603 x5,00001 »22] 600
oYz 11,000
OAHLANEHEX(ZRX) S
11,000, 000& 11,000
02 23234l 32,496 31,352 1,144
o3322= & HMA 32,496
OSEANFU AotE L MIIR
1,200, 0009‘4*122 14,400
Odetd et === 4,584
o = HIAIE(300kwD| 2F) 156,000& x12& 1,872
o SAI2XEAIE (400kwO| 2H) 226,000 *12& 2,712
OFEIItdEd+=+2(SHAE)  550,000& 550
OagALetMZeIid =2 4,560
. SHAE 177,000& =128 2,124
o GRI2XIAIE 203,000& x12& 2,436
OSAIRNESUY =2 (HA2XAIF)
194,000& =12 2,328
OLL+HSIAIE AU (SHAIZF)
352,000& «12& 4,224
OM=zZ& A (LA2TTAIE) 250,000& »23] 500
OANELSIUSH =2 1,350,000& 1,350
202 ¢4 H| 1,500 1,000 500
01 =W 1,500 1,000 500
o220l 1,500,000& 1,500
307 212t01& 10,000 0 10,000
02 2I2tBAE X 10,000 0 10,000




A XS EH
FE: NGB MELH (LY - SAIG/AHTE - DES

el OIEE XHR P EA (e @
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ORI3s LHAIZ S0S H=H  10,000,0009! 10,000
401 Al&HIL 20| 34,000 20,000 14,000
01 Al&l 34,000 20,000 14,000
OBEANE SX24H| 20,000,0002 20,000
OGN EZEsZa #)  9,000,0008 9,000
OZANF sloa Hig 24 5,000, 0002 5,000
THEH Al & Al &8 CH &t 2,250,932 237,200 2,013,732
=l 1,170,000
Al 390,000
2 690,932
401 Al&HIL 20| 2,250,932 237,200 2,013,732
=l 1,170,000
Al 390,000
2 690,932
01 Al&t| 2,223,977 232,452 1,991,525
O EAIZ OIHOIS & 1,333,696
OAAIEHE  1,300,000,0002 x4, 32%+60% 33,696
OZ Al 1,300,000,00024 1,300,000
=l 780,000
Al 260,000
2 260,000
OCSIR2RAIE HEl ZA 205,376
OA A& I 200,000, 00021 *4. 48%+60% 5,376
OZ Al 200,000,00024 200,000
OAYTEAIAE BESHTA A3 154,905
OA A& bl 150,000, 0002 %5 45%+60% 4,905
O A 150,000, 000! 150,000
=l 90,000
Al 30,000
2 30,000
OLFANY FAE 2XHY L =4 530,000
OEXI bl 500,000,00024 500,000
=l 300,000
Al 100,000
2 100,000
OFXNE SXNEH 30,000,0002 30,000
02 22yl 19,755 3,128 16,627
O EAIZ OIHOIS &
1,300,000,0002*1.09% 14,170
OCSIAPRIAIR HHl ZAF 200,000,000 *1.51% 3,020
OAYTEHAIAE BEHTA A3
150,000, 0002 *1.71% 2,565
03 Al& S CHY| 7,200 1,620 5,580
O EAIZ OIHOIS &
1,300,000,0002! *0. 36% 4,680
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SN

RS DA,

HE: NAARBLEH (MY - FAIIY/MYTE - D3
Sl O KIAAR JIBEH (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
O AIRTAIE FUIZAL 200,000,000 %0.72% 1,440
OAYBEAINAIE BE3ZA &
150,000, 00021 %0. 72% 1,080
N Zolarel 4 34,500 34,000 500
N Bolarel S 34,500 34,000 500
201 L2y 3,000 3,000 0
01 ALR eIt 3,000 3,000 0
CHEE==1H 3,000
OZ0l E2HX M 3,002 *1,000% 3,000
202 01t 1,500 1,000 500
01 2hoit] 1,500 1,000 500
CETIE] 1,500,002 1,500
307 BI2HOI 30,000 30,000 0
02 PIAYMBE 30,000 30,000 0
OXlgsl 2FF ZOIE FAIE 30,000,008 30,000
IIHSHMYTH (M - B/ RHUER ) 1,242,678 898,878 343,800
E20/Q SHNE 333,710 293,710 40,000
el O E I 2 273,000 253,000 20,000
201 Lpr2y| 3,000 3,000 0
01 ALR eIt 3,000 3,000 0
CHEE==1H 3,000
OMADIHE ESHI HME 5,000 %6005 3,000
202 01t 20,000 20,000 0
01 2Uoid] 2,000 2,000 0
CEEITE 2,000,0002! 2,000
03 22201l 18,000 18,000 0
CLEEEIEL! 6,000,0002! +1%+33] 18,000
403 XX EHHIS XH2 0l ® 250,000 230,000 20,000
02 ZIIZSOICHECHE AR 250,000 230,000 20,000
OMALHARE I 50,000, 0002 *23] 100,000
O=H FAl 23 HIINE
10,000, 000 %23 20,000
O} FA L3 HIINE
2,000,002 ¥5H Ab<23] 20,000
O RAB KAE At
2,500, 00024 *10H At 25,000
O%+E 2Z2EE U 2,000,002 <109 AF 20,000
OFAIIY HANEY AFSXS
3,000,002 574 A} 15,000
O+EHAG(ALAIY) KA
10,000, 00024 *52H At 50,000
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SH: NABR D
Hal: JHSMANATE (MY - BAIY/RAYETR)
oHelr ZAIY SAXE (el @

SN I SRI(S) - NRAY - B 0fl b Soe B RS2
SAJY WA LK 44,000 24,000 20,000
402 SItXHE01H 44,000 24,000 20,000
01 It E2LEXL 44,000 24,000 20,000
O=HRZUSEESXH 24,000
OISN(BY o SHAY 22)S
3,000, 000& *8IH At 24,000
osAJIY A48 XN 2,500,000 *8IH At 20,000
S&NFE 16,710 16,710
201 Let2IH| 2,510 2,510
01 AtSR22/Hl 2,510 2,510
OgBt=2H| 2,510
Osaguszda gHaz 950
. LO—E=0 30,000 = 100H 300
. Bt=EH-20 65,000 = 100H 650
Oua3aA=L 2l 130,000& «12& 1,560
202 O4Hl 1,600 1,600
03 22AHR0HYI 1,600 1,600
Ouss=a =& 800, 000& »1H x23] 1,600
301 Et2A = 12,600 12,600
08 QIBI=&E NI 12,600 12,600
(OF=FSgmECa ¥l 1,000,000& *33] 3,000
OueZRA MEBEXZ 800,000 x1H«12& 9,600
ZHEJU= SAI|EEY 908,968 605, 168
SAJY 54 N& 51,960 48,160
201 Let2d| 11,960 8,160
01 AtE22(Hl 3,960 3,960
Oget=&H| 2,000
OJlgela o M 1,000, 0003 *2H 2,000
oz2d=¢ 1,960
OJIEXNEALS S
70,0003 14 #23] 1,960
03 HAH2SHI 8,000 4,200
OsAJIY XEE MOILE HE 6,000, 000& 6,000
OJlyg & Y$E =3 23 2,000,000& 2,000
307 GIz2tolA 22,000 22,000
02 BltAAEX 22,000 22,000
OHM12el =248 SHE S =
22,000,000& 22,000
403 XXM SA201H 18,000 0
02 SO 2SHUSHEASH 18,000 0




DX 2R D
OIS AAITI (&
D FMEYE FAIIYRY

X LH -
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
OsAJgel dE2=)|Y YE L FEI) =
= 3,000,000& x10H * 13| *60% 18,000
SIS KA 850,000 545,000 305,000
307 BI12+0l & 850,000 545,000 305,000
05 2IRIRAES 30,000 20,000 10,000
OsAINY Z2EAFNS ARE
30,000, 000& 30,000
08 OIXENES 820,000 525,000 295,000
oOsAIIY Z2EAF XS OIXEH
820,000,000& 820,000
SAJ1Y JIgtAlE K& 7,008 12,008 25,000
201 LBt 3| 7,008 7,008 0
02 2323l 7,008 7,008 0
0232= ¥ MAl 5,100
OAFSM et ML=
40,0003 x40 A +12& 1,920
Os3HX Jtz2s dlIes
5,000 «53&+128 3,180
OAEZHI =X 1,908
Os3HX Jt2s RAE*
120,000& *53=*30% 1,908
SEHO HUX HR2e (&Y - SAIL/HEHK LR 108,690 6,560 102,130
ohe)
53,000
18,000
37,690
A =5 & 108,690 6,560 102,130
53,000
18,000
37,690
O X0l EE el =t 19,690 6,560 13,130
101 Q1 Z4H| 5,230 0 5,230
04 JIZtHZ22HsE2+ 5,230 0 5,230
OHEI EIIEM 5,230
oJlzs 42,300 x2H +502 4,230
O=&l 5,000& x2ZH x50 500
Oust| 5,000 »2H 50 500
201 LetEHH| 13,260 4,460 8,800
01 AtER22/Hl 13,260 4,460 8,800
OgBt==2H| 5,780
ONuUXIE 222 MA 1,380
. 222 60& *5,0000H 23] 600
. =0 60,0003 = 1304 780
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SN

RS DA,

M S UK M2l (s - AL /UKL R0
Sl ORI A2 oE CRED
S - EH .o (3]) ERE-PEE Aro e 2
OJtAactd2e 222 M 1,380
. 2B= 603 x5,00001 x22] 600
. =0 60,000& = 13H 780
0N FIIHAE MA M
603 *5,00001 x5 1,500
OMZI Bl - £AAN BABES WX
300:& =3, 0000H 900
OSsS2HA AMlg A=
10,000 *2J 2 %63 120
OUZEAILE ASTYH ¥ 2AS42
500,000& 500
odxts 7.480
OHEI HIABAN 2SR
374,000& 20! 7,480
202 4| 1,200 1,000 200
01 =LA b 1,200 1,000 200
O22 o bl 1,200,000& 1,200
B S EAIAE AXIAS 89,000 0 89,000
= 53,000
Al 18,000
= 18,000
401 AIEHIZ 2L 89,000 0 89,000
= 53,000
Al 18,000
i 18,000
01 Al&HI 89,000 0 89,000
OSEdLARARA S EAAE AX
89,000,000& 89,000
= 53,000
Al 18,000
= 18,000
S e 2 (X2 M D) (OIEH/IIE) 94,992 87,098 7,894
olARHHI(XISZ M D) 7,500 7,200 300
ol 29| 7,500 7,200 300
203 R F&d| 7,500 7,200 300
01 J|22ZFRF&HI 3,300 3,000 300
o=% 3,300,000 3,300
04 ENBILRFEH| 4,200 4,200 0
ORAM2Z 350,000& = 12& 4,200
Jl2dul (XN E Mo 87,492 79,898 7,594
Jl2Z | 87,492 79,898 7,594
201 L2yl 32,772 25,178 7,594
01 AtR2t2ldl 32,772 25,178 7,594




A XS
M HZ2IZH(XNAZ M) (OIEH/IIE)
el JI2ZH(XNSZ M)

SN EY O (BH) - MRAY - BLS 0l &k o Bl
Gil &t 0
O ger=ZH| 13,620
O3 &2 H 13,620,000& 13,620
o=z gl 19,152
OZHM a2 19,152,000& 19,152
202 O4H| 54,720 54,720
01 =LA b 54,720 54,720
O2 LAYl 54,720
SHM A2 S 54,720,000& 54,720




